
HOT GAS BYPASS UNLOADER

1110987654 23

1

12A

12

12B17

16

15
14

13

2

18

2

12C

Item Part Number Description Qty
17-44106-00 VALVE PLATE, FLAT, SIDE BANK WITH HOT GAS BYPASS UNLOADER

- INCLUDES:
11

17-44107-00 VALVE PLATE, FLAT, CENTER & SIDE WITH SUCTION CUTOFF
UNLOADER - INCLUDES:

11

2 NSS VALVE PLATE 1
3 17-40057-00 DOWEL, PIN SUCTION VALVE 4
4 17-40083-00 SPRING, SUCTION VALVE POSITION 2
5 17-44111-00 VALVE, SUCTION (0.018 INCH THICK) 2
6 17-55002-00 GASKET, VALVE PLATE 1
7 17-40086-00 VALVE, DISCHARGE 2
8 17-44160-00 STOP, DISCHARGE VALVE 2
9 17-10715-00 LOCKWASHER, 1/4 4

10 17-44113-00 CAPSCREW, HEX HEAD, 1/4-28 x 3/8 INCH LONG 4
11 17-44123-00 GASKET, CENTER CYLINDER HEAD 1
12 17-44124-00 GASKET, SIDE CYLINDER HEAD (NO UNLOADER) 1

12A 17-44125-00 GASKET, SIDE CYLINDER HEAD (SUCTION CUTOFF UNLOADER) 1
12B 17-44126-00 GASKET, SIDE CYLINDER HEAD ( STANDARD HEAD, HOT GAS

BYPASS )
1

12C 17-44761-00 GASKET, SIDE CYLINDER HEAD ( SHAVED HEAD, HOT GAS
BYPASS )

1

13 17-55012-00 CHECK VALVE, HOT GAS BYPASS UNLOADER - INCLUDES:: 1
14 NSS LOCK WASHER, #6 2
15 NSS SCREW, ROUND PHILLIPS HEAD, #6-32 x 1/2 INCH LONG 2
16 NSS BODY, CHECK VALVE 1
17 17-40104-08 PISTON, CHECK VALVE 1
18 17-40104-09 SPRING, CHECK VALVE 1

/index.php?route=product/search&search=17-44106-00
/index.php?route=product/search&search=17-44107-00
/index.php?route=product/search&search=17-44111-00
/index.php?route=product/search&search=17-55002-00
/index.php?route=product/search&search=17-40086-00
/index.php?route=product/search&search=17-44160-00
/index.php?route=product/search&search=17-44123-00
/index.php?route=product/search&search=17-44124-00
/index.php?route=product/search&search=17-44125-00
/index.php?route=product/search&search=17-44126-00
/index.php?route=product/search&search=17-44761-00
/index.php?route=product/search&search=17-55012-00



